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ME=3-CF <’ 11,316,363 10,847,363 469,000
AlH 2,107,000 2,107,000 0
2 9,209,363 8,740,363 469,000
HAXNE 25x 4 9,845,352 9,228,844 616,508
AlH 2,107,000 2,107,000 0
2 7,738,352 7,121,844 616,508
ERE EBE(Z=NHE SEEIH) 8,324,658 7,511,688 812,970
AlH 2,082,000 2,082,000 0
2 6,242,658 5,429,688 812,970
SA=IE 22 13,688 15,688 22,000
101 Q124 H 13,688 15,688 A2,000
04 JI2H2R2ASEL 13,688 15,688 22,000
ORE=INE 28X 13,688 15,688 A2,000
ol A 8,182,000 8,182 10, 182 22,000
UH2E AJ0IQO0| =XE He 2,693,000 2,650,000 43,000
AlH 1,550,000 1,550,000 0
2y 1,143,000 1,100,000 43,000
401 Al HI 2L 200 2,693,000 2,650,000 43,000
AlH 1,550,000 1,550,000 0
2y 1,143,000 1,100,000 43,000
01 Al&H| 2,693,000 2,650,000 43,000
Ozetd AJOIHO0l F=X&E A4
A 2,693,000,000& 2,693,000 2,650,000 43,000
Al H 1,550,000 1,550,000 0
2y 1,143,000 1,100,000 43,000
2N 55 L MM 4,077,970 3,306,000 771,970
401 AlEHI 2 =20HY]| 4,077,970 3,306,000 771,970
01 Al&HI 4,077,970 3,306,000 771,970
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A 1,332,000,0008 1,332,000 800,000 532,000
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23X 990,000,000 990,000 670,000 320,000
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A 887,000,000 887,000 890,000 A3,000
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2 A 8,970,000 8,970 86,000 ATT7,030
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OFXtd THE M Z & 55,000,000 55,000 50,000 5,000
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101 Q124 H] 122,338 139,338 A 17,000
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01 oilBl bl 26,466 76,366 249,900
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HY2HAH (LS F ) 1,346,460 1,493,968 N 147,508

AHIHI(F=UHE SEslH) 1,254,773 1,399,281 N 144,508

el 2gl 1,254,773 1,399, 281 A 144,508

101 1Al 1,211,793 1,354,701 A 142,908

01 2= 1,211,793 1,354,701 A 142,908

OJdles 789,273 932, 181 A 142,908

= 2 & 213,969,000 213,969 356,877 A 142,908

204 MR F Y| 42,980 44,580 A 1,600
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